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Algebra SKkills Review: Parallel and Perpendicular Iﬁin‘és #1

1. Find the slope of a line parallel to the line through the points (lO, 10) and (12 3)
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2. Determine whether the line passing through the points P(5

—4) and Q(1, 7) is parallel to
the line passing through the points R(l 1, - 7) and S (7, 4) :
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3. Find the slope of a line parallel to the line 6x—y=7.
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4. Find the slope of a line perpendicular to the line through the points ( 4 7) and (5 9)
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5. Give the slope-intercept form of the equation of the line that is perpendicular to
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8y = 9 and contains (-3, —8).
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6. Write the standard form of the equation of the line passing through the point (2, 1) and

M= éo" ——> perpendicular to the line —5x—6y = -6.
[Al ~6x+5y =7 [B] —5x- 6y =4 [C] -Sr+6y= -4 D) 6x-5y =7 _
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7. Find an equatlon Y of the line that passes through the pomt (1, -4) and is par allel to the line
2x+5y =-1. m= -2
[A] 2x+5y =-3  [B] 2x+5y =—18 [C] x—4y =-1 [D] 2x-35y =—31 :
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8. Whlch of the followmg equations has a graph that is parallel to the graph of 4x 2y 7 ?
[A] —2y 4x+2} (B] 27 Ch2 (C] —4%—2y=—7 2
D] 7odx=2y [E] 4%42y=2
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9. Determine if the two lines 5x -3y = -15and y = —%x 3 are parallel, perpendicular,
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10. Which of the following lines is not parallel to y = =3x—57?
[A] y+3x =-6 [B] —3y—-x =3 [C] =3x-y =3 [D] —6x—-2y =3 3
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